(A)
NAME:

MEASURE AND DATA PROCESSING EXAM

NEPTUN:

28.11.2023

1. The table gives the current and voltage of a resistor. Find the value of the resistor and complete the

table! Calculation required!

I [mA] 1.27 2.98 4.04 4.68
U [V] 22
2. Complete the table!
Sign U I R C t Q
Unit \%

3. Calculate the voltage and current of all the resistors, after the transient of the circuit

are not enough!

R1 C1

vi 1.5k 10p

R2

2.5k
24V

R3
1.5k

. Only the values

UR1=
IR1=
UR2=
IR2=
UR3=
IR3=

4. Calculate the voltage and current of all the resistors. Only the values are not enough!

R1

1.5k
R2

2.5k

Vi

12V

R3
1.5k

R4
1k

UR1=
IR1=
UR2=
IR2=
UR3=
IR3=
UR4=
IR4=

5. What value of capacitor is needed in the following circuit to have a time constant of 150us?



Vi

R1

1.5k




(B)
NAME:

MEASURE AND DATA PROCESSING EXAM

table! Calculation required!

NEPTUN:

28.11.2023

1. The table gives the current and voltage of a resistor. Find the value of the resistor and complete the

UI[V] 4 10 12 19
I [mA] 5.88
2. Complete the table!
Sign U Q R t C
Unit \

3. Calculate the voltage and current of all the resistors, after the transient of the circuit

are not enough!

R1 C1
f\\v_.-ﬂ'-\u,r L J| [
/J\\u 1.5k 10p
N R2
L) 3.5k
24V
»

R3
1.5k

. Only the values

UR1=
IR1=
UR2=
IR2=
UR3=
IR3=

4. Calculate the voltage and current of all the resistors. Only the values are not enough!

R1
Vi 1.5k
Fi“ﬁ R
\ 2.5k
N 12v

R3
800

§§R4
1k

UR1=
IR1=
UR2=
IR2=
UR3=
IR3=
UR4=
IR4=

5. What value of capacitor is needed in the following circuit to have a time constant of 100us?



Vi

R1

1.5k
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